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General Instructions

Do not open this question booklet until you are
asked to do so.

Immediately after the commencement of the
examination, check that the test booklet does
not have any unprinted/torn/missing pages or
items. If so, get it replaced by a new test
booklet.

This Test Booklet contains 150 items
(questions). Each item is printed both in Hindi
and English. Q. No. 1 to 100 are from
General Studies and Q. No 101 to 150 are
from Aptitude. All questions carry equal
marks.

Each item comprises four responses (options).
Select the response which you want to mark on
the OMR Sheet. In case you feel that there is
more than one correct response, mark the
response which you consider the best. In any
case, choose ONLY ONE response for each
question.

Mark your answers in the separate OMR sheet
provided. Fill up the respective circle in OMR
sheet completely by black ball pen.

There will be penalty of 1/3r marks assigned
to that question for wrong answers marked by
the candidate.

Calculator, mobile phone, or other electronic
gadgets are not allowed in examination hall.

Do not leave the examination hall without
permission of the invigilator before time.

Cheating of any kind will disqualify the
applicant immediately from this test.

In case of difference in interpretation of a
question in Hindi and English, English
version will be treated as final.

You have to write the essay on one topic out of
five topics given at the last page of this booklet
which carry 50 marks.

Please handover the OMR along with this
question booklet to the invigilator after time is
over.
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PART -1 (General Studies)

In the context of polity, which one option of
the following would you accept as the most
appropriate definition of liberty?
(a) Protection against the tyranny of political
rulers
(b) Absence of restraint
(c) Opportunity to do whatever one likes
(d) Opportunity to develop oneself fully.
The concept of Fundamental duties has been
adopted in the Indian constitution from the
constitution of
(@) United States of America
(b) Russia
(c) Japan
(d) United Kingdom
Which of the following constitutional
provisions ensure civic equality in Indian
context:
1. Abolition of untouchability
2. Equality of opportunities in matters of
public employment
3. Elections to loksabha and state
assemblies to be on basis of adult
Suffrage
4. Equal right for men and women to an
adequate means of livelihood
Select the correct answer code:
(@) 1 and 2 only
(b) 1,2 and 3 only
(c) 1,2 and 4 only
(d) 1,3 and 4 only

Consider the following statements:

The Supreme Court of India tender’s advice
to the President of India on matters of law or
fact

1. on its own initiative.

2. if he seeks such advice.

3. only if the matters relate to the
Fundamental Rights of the citizens.

Which of the statements given above is/ are
correct?

(@) 1 only

(b) 2 only

(c) 3 only

(d) 1 and 2

What is the difference between “vote-on-

account” and “interim budget”?

1. Vote-on-Account is a special provision by
which the government obtains
parliament’s approval for funds sufficient
to incur expenditure for a part of the year.

2. The provision of a “vote-on-account” is
used by a regular government, while an
“interim budget” is a provision used by a
caretaker government.
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3. A “vote-on-account” only deals with the
expenditure in government’s budget,
while an “interim budget” includes both
expenditure and receipts.

Which of the statements among the above

is/are incorrect?

(@) 1 and 2 only

(b) 2 only

(c) 2 and 3 only

(d) All are correct

. Under the Constitution of India, which

one of the following is not a fundamental

duty?

(a) To vote in public elections

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and respect
its ideals

. The correct statements about Calling

Attention motion are:

1. It is a device of calling the attention of a
minister to a matter of urgent public
importance.

2. Its main purpose is to seek the opinion or
clarification of the concerned minister on
matters of urgent public concern.

3. It does not involve any censure against
government.

Select the correct answer code:

(@) 1 and 2

(b) 1 and 3

(c) 2 and 3

(d) 1,2 and 3

8. Consider the following:

1. Right to Education

2. Right to a Fair Public Hearing

3. Right of Peaceful Assembly
Association

Which of the above is/are Human Right/

Rights under “Universal Declaration of

Human Rights”?

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d) 1,2 and 3

and

9. Regarding the office of the Lok Sabha

Speaker, consider the following
statements:

1. He\she holds the office during the
pleasure of the President.

2. He\she need not be a member of the
House at the time of his/her election but
has to become a member of the House
within six months from the date of

his\her election.
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3. If he\she intends to resign, the letter of
his\her resignation has to be addressed
to the Deputy Speaker.

4. It is the speaker who decides the
questions of disqualification of a
member of the Lok Sabha, arising on the
ground of defection.

Which of the statements given above is/ are
correct?

(@) 1 and 2

(b) 3 and 4

() 2 and 4

(d) 2,3 and 4

10. The ultimate responsibility of taking due
action on the comments of the CAG vests
with
(a) President of India
(b) Supreme Court
(c) Niti Ayog
(d) Parliament

11. Match the columns with respect to Indus
Valley Civilization Sites Archaeological

Findings:
Site Features
1. Harappa Granaries
Mohanjodaro Plough Marks
Dholavira Water
Reservoir
4.  Lothal Dockyard

S. Kalibangan Dancing girl

Which of the pairs are correctly matched:
(@ 1,2,5
(b) 1,3, 4
(c) 2,3, 4
d) 2, 3,5
12. Consider the following statements about
Vedic society:
1. Iron was popularly used in early Vedic
society.
2. Cow was most important in early Vedic

society while land became more
valuable in later Vedic society.
3. In early  Vedic  times, Varna

classification was based on profession
while in later Vedic it was based on
birth.

Choose the correct option-

(a) 2 only
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(b) 2 and 3 only
(c) 3 only
(d) 1,2 and 3

13. The reason for rise of Magadha
Mahajanpada as most powerful empire
were in 6th BC

1. Nearby Iron ore reserves which helped
them make weapons

Thriving agriculture

Strong rulers like Bimbisara etc.

Use of elephants on large scale in wars

RN

Cheap and convenient transport using
rivers

Choose the correct option-

(@ 1,2,3

() 1,3,5

(c) 1,2,3,4

d) 1,2,3,4,5
14. Arrange the following Mahajanapadas

from North to South:
1. Gandhara

2. Avanti

3. Magadha

4. Kuru (Kurukshetra)
Choose the correct option:
(@ 1-4-3-2

(b) 1-4-2-3
() 4-1-3-2
(d4-1-2-3

15. Which of the following statement is not
correct regarding the Digambara sect of
Jainism?

(a) Digambara monks do not wear clothes as
they believe it increases the dependency
and desire for material things.

(b) They believe that both men and women
can attain salvation/moksha.

(c) They believe that Mahavira remained
unmarried.

(d) Suttapahuda text contains the earliest
record of the beliefs of Digambaras.

16. Consider the following:

1. Recognition of existence of god

2. Prohibition on practice of agriculture

3. Complete disagreement with varna
system

Which of the above is/are the feature(s) of

Jainism?

(@) 2 and 3
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18.
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(b) 1,2 and 3

(c) 1 only

(d) 1 and 2

Under the Act of 1858, India was to be
governed by

(a) The Company

(b) In the name of the Crown

(c) Board of Directors

(d) In the name of Governor-General of

India

The Ghadar Party was founded (November
1913) at San Francisco USA by

(a) Madam Bhikaji Cama

(b) Lala Har Dayal

(c) Shyamji Krishana Verma

(d) Both (a) and (b) above

Consider the following organizations:
1. East India Association
2. The Bombay Presidency Association
3. Poona Sarvajanik Sabha
Which of the following is the correct
chronological sequence of the formation of
the above organizations?
@ 1-3-2
b)3-2-1
(c)2-1-3
(d3-1-2
The primary objective of the Akali
movement of 1920s was to
(@) Liberate Sikh Gurudwaras from the
control of corrupt Mahants.
(b) Create a separate province in region of
Punjab.
(c) Make modern western
available to the Sikhs.
(d) Counter the proselytising activities of
Christian missionaries.
Which of the following are the features of
desert Landform?
1. Mushroom rocks

2. Meanders

3. Sand dunes

4. Moraines

Select the correct answer
(@) 1and 2

(b) 2 and 3

(c) 1and 3

(d) 3 and 4

education

Pampas, Praries, Velds, Downs, Steppes
are examples of
(@) Coniferous forests

(b) Temperate grasslands
(c) Mangrove region
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24.
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26.

(d) Continental deserts

Match the following:

1. Troposphere - This layer is almost free
from clouds and associated weather
phenomenon, making conditions most
ideal for flying aeroplanes.

2. Stratosphere - Almost all the weather
phenomena like rainfall, fog and
hailstorm occur in this layer.

3. Ionosphere - This layer helps in radio
transmission

4. Mesosphere- Meteorites burn up in this
layer on entering from the space.

Which of the following pairs are correctly

matched?

(@ 1and 2

(b) 2 and 3

(c) 3 and 4

(d) 1 and 4

Arrange the distribution of water in the
water bodies in descending order

(a) Oceans — Fresh water lakes — Rivers —
Groundwater

(b) Oceans — Rivers — Freshwater lakes —
Groundwater

(c) Oceans — Groundwater — Freshwater
lakes — Rivers

(d) Oceans — Groundwater — Rivers —
Freshwater lakes

The ocean floor was displaced by about
10 - 20m and tilted in a downwardly
direction. A huge mass of ocean water
flowed to fill in the gap that was being
created by the displacement. This
marked the withdrawal of the water mass
from the coastlines of the landmasses in
the south and south-east Asia.

The above event will lead to which of the
following natural disaster?

(a) Cyclone

(b) Tsunami

(c) Sea floor spreading

(d) Thunderstorm

Which of the following statement(s) about
tides is/are correct?

1. The strong gravitational pull exerted by
the sun and the moon on the earth’s
surface causes the tides.

2. During the full moon and new moon
days, the sun, the moon and the earth
are in the same line and the tides are

highest.

JATF CET - 2022

23.

24.

25.

26.

(d) wETEdT YEET

Ruforfe s gafea w3

1. &IYHST - Tg XA dTedl i Ha9 gaeT
TEATAT | AT TF gl g, o FHT10r T8t
# qRfRafaat gars e 3™ & forw areet
gl 2l

2. FHATT ST - 9 Id | T K9 Faeft
AT HeATU S qUT, FIZL AT AATFE BT
2

3. HFFHST - Tg T LLAT THIT | Hag Ll
|

4. %BW?FI"- FAET T TAT LA T IohTUE 20
T | I AT 2

fFeforfea & & #19-9 797 92t qafea 82

(@) 1 3R 2

(b) 2 3T 3

(c) 33T 4

(d) 13T 4

Raferiera s Mt #§ oo % @A #1 9ed w9
¥ Fafeyg fiforg:

(a) HETETIY - qTSl STl Hie - qAAT - oA
(b) HETETIY - AT - TATSN ST T HIoA - oA
(c) AETENT- ST - qATST STl HIeA - (AT

(d) HETETY - ST - ATAT - qTST ST AT et

AEENOT T T 10-20 Hiex e g
AT ST A= i e F g =T °m Fedmaw ®
g AfdT siaae 1 v F g Qener =T #
I T ST AR TG AT FACAET (7 S
TFRrOr-gd TIRMET & St del & 91 ged A

Sh HeAT Mot & & o aTshfas sraeT &1
FHTLOT AP
(a) =HaTT

b) HATHT

(
(c) IR fAaer s|wor
(d) st o
Reffea Fat & & #1-a1 /3 98t §/8°
1. T T FFHT F ARATAT [EATHRYI T
LT G2AT AT Helg T FA-HIE AT F
2. iU ST st & oAt § 99, =597 37
et U g § a8 AT TH a9 g9 S
ST 354 2




3. High tides raise the water level close to
the shores. This helps the ships to arrive
at the harbour more easily.

4. The rise and fall of water due to tides is
being used to generate electricity in
some places.

Choose the correct option:

(@) 1 and 2 only

(b) 2 and 4 only

(c) 1, 2 and 3 only

(d) All of the above

27. Which of the following statements about
Ocean currents is/are true?

1. Generally, the warm ocean currents
originate near the equator and move
towards the poles and the cold currents
carry water from polar to lower
latitudes.

2. The areas where the warm and cold
currents meet provide the best fishing
grounds of the world.

3. The areas where a warm and cold
current meet also experience foggy
weather making it difficult for
navigation.

Choose the correct option

(@) 1 only

(b) 1 and 2 only

(c) 1 and 3 only

(d) All of the above

28. Which of the following statement about
air pressure is NOT correct.

(@) The air pressure is highest at sea level
and decreases with height.

(b) Horizontally the distribution of air
pressure is influenced by temperature of
air at a given place.

(c) Low pressure is associated with cloudy
skies and wet weather and High pressure
is associated with clear and sunny skies.

(d) Air above us exerts no pressure on our
bodies as we do not feel it.

29. Consider the following statements about
Ganga Brahmaputra plain —
1. In West Bengal and Assam tea is grown

in plantations.

2. Silk is produced through the cultivation
of silk worms in parts of Bihar and
Assam.

3. Thick bamboo groves are common in the
Brahmaputra plain.
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) AT AT Sfasr faawor Bt =009 92 a1 &

qATTHTE | AT grar gl

(C) FH ATARTE T <h ATHTLT AT 77 HHH & Ha3

d

ZIAT & oY 39 aTI&Td T9=8, 3li¥ g7 <6 AT
q H93 gl 2l

) AT TATY ¢RIT 9 Fls 2419 dg! STAdl g &Y
TH TH AIAA L B

29. I FEIT ¥ AW & Ik § _Rufafea v =
A= fiforg -

1

2

3

. I TS 7 qEH H =T T § SIS
ST 2

. 9T T IcUTEA fAgTe 37 orEw F oy fRedt #
T & ST o ICATEA o AT | TR Srar
2

. TR F I F F09 F 79 S 9T A1 2
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4. The most popular varieties of the fishes
are the rohu, catla and hilsa.

5. Kaziranga and Manas wildlife
sanctuaries are present in this region.

Which of the above are correct —

(@) 1,4 and S only

(b) 1, 2 and 5 only

(c) 2,3, 4 and S only

(d) All of the above

30. Consider the statements
distribution of minerals:

1. Generally, metallic minerals are found

in igneous and metamorphic rock

about

formations.
2. Mineral fuels such as coal and
petroleum are also found in the

sedimentary strata.
3. Asia is the leading producer of iron-ore
in the world.
Which of the above are correct?
(@) 1 and 2
(b) 1 and 3
(c) 2and 3
(d) 1,2 and 3
31. Which of the following Taxes are merged
into GST?
1. Service Tax
2. Basic custom duty
3. Excise Duty
4. Income Tax
5. State VAT
Choose the correct option:-
@ 1,2,3,4
(b) 1,3, 5
(c) 3,4,5
d) 1,2,4,5
32. Which of the following expenses are
revenue expenditure for Government of
India?
1. Salary Payment
2. Grant to States for capital expenditure
3. Repayment of Loan
4. Payment of Interest on loan
Choose the correct option:-
(@ 1,2 and 3
(b) 2,3 and 4
() 1 and 4
(d) 1,2 and 4

33. SWIFT was seen in news recently. It is
related to
(a) Defence technology used
operation against Ukraine

in military
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5. T & H FOOTT ST qH\F a7 S(F
AATOT oo 8l

STATH FAAT H T AT TET 89

(a) F¥aT 1, 4 3% 5

(b) Fae 1, 2 3T 5

(c) @ 2, 3,4 AT 5

(d) 3TTR Tt

30. gl % fAawor & a § FEl ) FEr i

1. MW % 9T, oifcas @EST T 37
FATAT O T H 97T AT 2

2. @S $UF S AT AT ST T
T | 910 SI7d 3l

3. U, s # Fig-3aes & T IS 2

ST FAFT | F HF-H qBT 2°

(@) 132

(b) 13T 3

(c) 23 3

(d) 1,233

31. Fafefaa & & f19 & U FT 9g TF FG1 T
(GST) & fo= =T T g2
1. ¥aT*<
2. T HET e
3. IATE F

32. Fufefeg § & #:19-8 =9 IR 9@R & g
T 4T % daid ad g?
1. FA9 & G
2. UStTa = forw TT=At #T STa
3. T KT TAHTATT (THIe)
4. FIT I ST AT A
w1 faseT gAw:-
(a) 1,233
(b) 2, 3 #T 4
(c) 13T 4
(d) 1,234

33. T & F “Rawe (SWIFT)” Gl § TET AT Tg
e geifea g2
(a) T8 Thd & fAeg & AT | seqaT il
STH ATAT T&T T 1 B




(b) Providing services related to the execution
of financial transactions among banks
across the world.

(c) International communication platform for
global leaders

(d) None of the above

34. Which of the following are direct Taxes?
1. Wealth Tax

2. Custom duty

3. Income Tax

4. Professional Tax

5. Service Tax

Choose the correct option:-
(@ 1,2, 3, 4 only

(b) 1, 3, 4, 5 only

(c) 2,3, 5 only

(d) 1, 3, 4 only

35. With depreciation of Indian currency,
which of the following events will not
happen?

(a) Rise in Oil prices
(b) Decrease in FDI Inflow
(c) Costly Imports
(d) Competitive Exports
36. What are not likely benefits of GST?
(a) Reduce price of products
(b) Increase government revenue
(c) Faster transportation
(d) Increase profits of company

37. Consider the following statements:-

1. Budget deficit leads to rise in interest
rate.

2. Budget deficit is total expenditures
minus revenue receipts.

Which of the above is/are correct?

(@) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

38. Consider the following statements:-
1. CSR is mandatory for all listed and

unlisted companies.

2. Eligible company has to spend minimum
of 6% of net profits.

Which of the following are Correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) None of the above
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34.

35.

36.

37.

38.

(b) TZ &l o & Sl & A= G o|aT &
fhaTeaa & "afea |aT0 Y& F2aT 2
(c) =g afses Farelt F forw s /= wewid
2l
(d) STIF & 7 g o T
At § F19-8 T + EP
. gYRT T
. " g
. AT
. SATIETIH FT
. AT &
w21 faswer gfA:-
(a) 1,2, 3, 4 Fad
(b) 1, 3, 4, 5 Fa«
(c) 2, 3, 5 FaA
(d) 1, 3, 4 FaT
I &1 F qeag (EeET) § 9,
At & & FA-97 gear 981 TP
(a) o T FrHar ¥ Fhx
(b) sreaer faasft [erer (FDI) & siqdig § wHT
(c) WET ST
(d) sfaeeft ffara
Rufafead & & Fi-a1 a5g ©d 9971 ¢ (GST) FT
AWTHET ATH Tl 62
(a) ITATET T HTAd H FHT
(b) TEHRET T iy
(c) e aaga
(d) FIAT F AT H g
Ruffed Fet w fEr fifvm:-
1. TS(E AT & FHIEO AT &< § g BT 2l
2. IS HTT, T AT AL TS JAAT F d1
T AT 2

a b WN =

ST FAAT § T FA-GT/8 TG 8/8?

(a) Fae 1

(b) FaT 2

(c) 13T 23t

(d) TaT 1T TE2

FRafafeT Fa=1 = e fivm:-

1. FOE g1 a1 (CSR) a4 g iag
Y AT-gtag Fufaat & foro srfaar 2

2. T+ forw ar S #r saw e e @ v
ATH 6% T FIAT 2T 2

ST FAAT H F A-A7/F TET 8/ 8
(a)aw_c!T*rl

(b) Fa 2

(c) 13T 23t

(d) ST § 7 BT TE
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39. Which of the following best define Amber
Box Subsidy?
(a) Subsidies that are linked to one product,

but do not change according to
production level.

(b) Subsidies that consists of domestic
support that are mean to distort trade
practices in agriculture

(c) Subsidies which causes no or little trade
distortion

(d) None of the above

40. Global Human capital Index released by
(a) World Economic forum
(b) World Bank
(c) UNICEF
(d) UNESCO

41. Which of the following is/are not effect of
FDI inflow:-
(a) Increases foreign currency reserve

(b) Dilute Indian shareholding in Indian
companies

(c) Increases Government revenue

(d) Bring new leadership in business entity

42. Consider the following statement with
respect to GPS Aided Geo Augmented
Navigation (GAGAN)

1. This is a Satellite Based Augmentation
System (SBAS) implemented jointly with
Airport Authority of India (AAI).

2. The system will be interoperable with
other international SBAS systems and
provide seamless navigation across
regional boundaries.

Which of the above is/are correct?

(@) Only 1

(b) Only 2

(c) Both 1 and 2

(d) None

43. With the present state of development,
Artificial Intelligence can effectively do
which of the following?
1. Increase electricity

industrial units

2. Create meaningful short stories and
songs

3. Disease diagnosis

Which of the above is/are correct?

(a) 1 only

(b) 1 and 2 only

(c) 3 only
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consumption in

39.

Aaffaa § @ fi9-ar e Tt gfsast &

AT SUYH a0+ & TIATNT FLar g2

(a) o afsast ST UF IqTE | a5 gl g, g
g IITET & o ATA A5l daadl gl

(b) ag Tfeady, e =T awda ot g o o
F H SATIE TATHA T o Fdt g

(c) @€ Afea=T, ST agd w7 ATITE TaHid T HI0T
FAAT & AT Tg AT F faoger fF fOFa 7t
FLAT 2l

(d) SR & & Fr oft 7t

40. IMyF AT Ot gEHIE (ST AT Ffed

41.

T e grar ST 3 T 32

(a) e arfe w9

(b) fosz &%

(c) ZEE

(d) e

Rufafead & & Fi9-a1 T6.8.30E. F siqaig v

TS gl 5P

(a) T et qar W= # gfx Far 2

(b) TET ATRATT FAAT F AT SAeTfiar 7=
ST 21

(c) T TALHET ToTed H Flg 2T gl

(d) Tg HATAATAF FEAT FI TIT Igcd T FHar
2l

42. WWE (GAGAN) (Sf.9t.u9. tee foEr sres

Afaftem) F fRAww ¥ FRuffeg sa © e

Hifere:

1. g AT AwTEIae JTesRer (AAID) % |1
I €9 H FEitad Th SUTE eTd
LT T’ (SBAS) 2

2. TE YUITAT = sa<igtd SBAS Wortferat #
AT FAL-FATAAT g ST T &= Hwrei o
T AT Faty qE=ETe (@fEsreE) Fard 1 e
Exaiy

SYAT FAFT | F HIT-AT/H q51 8/87?

(a) Fae 1

(b) Fa 2

(c) 13T 23t

(d) STIF § F FTE TE

43. REm f adam ot &, sH= gl

(srfEffe S Refefee & & B w0
T TATAT € § FT Gl g2

1. SR sareal § foma & @ua # 3ia
2. AU A FATAT AL WAL T THAT FHLAT
3. T F7 A FAT

ST FAAT § F FIA-AT7/F qHT B/ 8P

(@) Fae 1

(b) Fae 1 3% 2

(c) a3
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(d) 2 and 3 only
44. Which of the following statements are
correct regarding the general difference
between plant and animal cells?
1. Plant cells have cellulose cell walls
whilst animal cells do not.
2. Plant cells do not have plasma
membrane unlike animal cells which do
3. Mature plant cell has one large vacuole
whilst an animal cell has many small
vacuoles.
Select the correct answer using the code
given below:
(@) Only 1
(b) Only 1 and 2
(¢) Only 1 and 3
(d) All the above
45. What is IoT (Internet of things)?
(a) Network of physical objects embedded
with sensors
(b) Network of virtual objects
(c) Network of objects in the ring structure
(d) Network of sensors

46. Consider the following statements:

1. Genetic changes can be introduced in
the cells that produce eggs or sperms of
a prospective parent.

2. A person’s genome can be edited before
birth at the early embryonic stage.

3. Human induced pluripotent stem cells
can be injected into the embryo of a pig.

Which of the statements given above is / are
correct?
(@) Only 1
(b) Only 1 and 2
(c) Only 1 and 3
(d) All of the above
47. With reference to carbon nanotubes,
consider the following statements:

1. They can be used as carriers of drugs
and antigens in the human body.

2. They can be made into artificial blood
capillaries for an injured part of human
body.

3. They can be wused
Sensors.

Which of the statements given above is / are
correct?

(a) Only 1

(b) Only 1 and 2

(c) Only 2 and 3

(d) All the above

in biochemical

48. What change occurs in Blood Pressure
during sleep?
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44,

45.

46.

47.

48.

(d) FaeT 2 3T 3

TR 3 S FHITAHTS S T FAL 5 GG

# Fafafeag & & s9-a1/9 +@ a8 g/5?

1. TR FITSTHRTSH & Foaqersr & o+ et fofxr
BT g, STafeh Siq RITARTA | T Aal aidl gl

2. UTET FITAFTA H TATSHT (STae) fBreeht 98t
AT 8, STafsh T S AIfrerTet & grdr 2|

3. URUF UTET FUHT H UF ST TEYTHT
(vacuole) TdT §, STaTh T S FHITAHT H F5
GIET THYTRAT gt 2|

F=r U T Fe FT AR F TEr 3L M0

(a) a1

(b) FaeT 1 3 2

(c) Fa< 13T 3

(d) IE Tt

‘IoT’ (32X A% i) T g2

(a) HEH F AIA A TG (TFILE) HITAH
FEGAT FT deah

(b) STHATHT FEEA FT qea=®

(c) &7 S=aT 7 FEqel #7 deaw

(d) FEH FT FeTh

a9 iR fiv:

1. 9TET ATAT-THAT & ST AT LRI 3cTe Heed
FTAT FIFFTAT H et aiady o o
T 2l

2. ATH FT S{AM S0 & g9 IEiwF iy
FFET | HOTad FFaT ST FehaT 2

3. AHa URT agah (Wqfidide) A HIfrHTet
TN TF JFT () F g1 § Aqa9q (Io7Fe)
[ERISIEET ]

ST FAAT H F HIF-AT/H T 8/3?

(a) Fa 1

(b) Fa 1 3T 2

(c) Fae 1 3T 3

(d) ITT=R Tt

FEd AISET & ged A Aufefag st

A= fifvw:

1. TAF AT T # Sfufet i gfaser %
ATl & & H TIH AT ST T 2l

2. TR A T & Afared 9T F oy 0w
TH IHTAT o ®T F T AT Tha T g

3. TAHT AF-THTEAT Fagdi § 39T & o
AT B

ST FAAT H T F-A7/F TET 5/ 3P

(a) Fae 1

(b) FaeT 1 3T 2

(c) Fae 2 3 3

d) STE Tt
Hz ¥ o T A F=1r aRadw gar &P

12



(a) Increase

(b) Decrease

(c) First Increase and then Decrease
(d) Remain unchanged

49. Consider the following

regarding Omicron.

1. WHO designated variant B.1.1.529 a
variant of concern, named Omicron.

2. Omicron is more transmissible compared
to other variants, including Delta.

Which of the statements given above is/are

correct?

(@) Only 1

(b) Only 2

(c) Both 1 and 2

(d) None

statements

50. Consider the following statements
regarding “Blockchain Technology”

1. It is a time-stamped series of immutable
records of data that is managed by a
cluster of computers not owned by any
single entity.

2. The blockchain network has no central
authority.

3. It carries High transaction cost.

Which of the above statements is/are correct?

(@) Only 1

(b) Only 1 and 2

(c) Only 2 and 3

(d) All the above

51. Lime is usually added to in order to

1. Increase the soil PH

2. Improve crop yields

3. Provide a source of calcium and
magnesium for plants

Which of the above option(s) is/are correct?

(@) Only 1

(b) Only 1 and 2

(c) Only 2 and 3

(d) All the above

52. Consider the following
regarding Tuberculosis.
1. The bacterium that causes tuberculosis
is called Mycobacterium tuberculosis.

statements

2. Chest X-ray cannot be used as a
screening tool for Tuberculosis.

Which of the above statements

correct?

(a) Only 1

is/are

JATF CET — 2022

49,

50.

51.

52.

d) safafda war g

AfiwE & de9g ¥ et F9 ) e

Hifsre:

1. g @@ WWea (WHO) F afvue
B.1.1.529 #r “qiitiz (% A" & &7 H
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1B PARE

ST FAAT H T FIH-9T/ T G581 8/8?
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“SATHAT qhATH” & Gad § HEfaraa o= 9
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3. THH A9 ANT IF gt 2l
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(a) Fa 1

(b) Fa 1 3T 2
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2. HEA Hl FeTEr H ga & forw
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A % oI

ST aedl § | FI-97/9 9861 8/8?

(a) Fae 1

(b) Fae 1 37 2

(c) Fae 2 3 3
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< = fifsma:

1. qUE® FT FOT TO9 ATl SOAT]  Hl
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ST FAAT H F AT qT/H Bl 5 /8°
(a) Fa 1
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(b) Only 2
(c) Both 1 and 2
(d) None

53. Which part of the human eye becomes
wider in the dark and narrower in light?
(a) Ciliary Muscle
(b) Pupil
(c) Cornea
(d) Iris

54. First human space mission “Gaganyaan”
will be launched in which year?
(a) 2023
(b) 2024
(c) 2025
(d) 2026

55. Which one of the following is a reason
why astronomical distances are
measured in light-years?

(a) Distance among stellar bodies do not
change

(b) Gravity of stellar bodies does not change

(c) Light always travels in straight line

(d) Speed of light is always same

56. Which of the following are included in the
original jurisdiction of the Supreme
Court?

1. A dispute between the Government of
India and one or more States.

2. A dispute regarding elections to either
House of theParliament or that of
Legislature of a State.

3. A dispute between the Government of
India and a Union Territory.

4. A dispute between two or more States.

Select the correct answer using the codes

given below:

(@) 1 and 2

(b) 2 and 3

(c) 1 and 4

(d) 3 and 4

57. The ideal of “Welfare State” in the Indian
Constitution is enshrined in its
(a) Preamble

(b) Directive Principles of State Policy
(c) Fundamental Rights
(d) Seventh Schedule

58. In the context of India, which of the
following principles is/are implied
institutionally in the parliamentary
government?

1. Members of the Cabinet are Members of
the Parliament.
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(b) Faet 2
(c) 13T 23T
(d) SR § 7 T TE
53. HME A7 & HIFA-97 9T HEX § & S1ar1 g 3
ST/ Tt | SR gt Smar &9
(a) Trae et (FRrfersrdy 7
(b) gt
(c) i
(d) wfarieT (sref)
54. qgar "Wa saRe few “wWeawt e ad
et R smoEre
(a) T 2023
(b) T 2024
(c) T 2025
(d) T 2026
55. Ruffaa & & s9-a7 & Fro § & e
Rt wErer-as & Ardy SIreft §9
(a) arehrr fiet 3 = & T TS awerdt g
(b) FTeefr fET 7 TEcATHRTT TE TEaT 2
(c) STeRTSr Haa HTefY ¥&T § 9T T 2l
(d) STRTST ST AT FHEAT THIT grat gl

56. Mafafea & & 9 Sgaw <A@ F 99

FATTYHI § 1A g2

1. 9T ¥R AT TF AT ATTF TF1 & 919
IEELE]

2. #HE & T ge ar el oo F e
& AT & gae | fFara)

3. 9T OTFE AT UF Fg q7Hd 29 F fiF
IEELEL

4. I AT X T AT oA F a7 [FAare

T 30 T Fe FT TART T Tl 3L AT

(@) 1 3R 2

(b) 2 3T 3

(c) 13T 4

(d) 3 &% 4

57. AT g™ # "SI ST #T At

o+ e W | [fg g7

() SEforwT/ STEATAAT

(b) Trer 3 Aifa Ao frgia

(

(

c) I At
d) ATaET AT
58. 9T & "eyl ¥ fAwffee & & s-a1 ¥ Rgia
LI GG § §90Tq &9 § A3 8/8?
1. HOWE % 935, 9% & 9357 gId gl
2. W9 9% AT F1 @9 F7 Feam a2 g,
TT TF F AT IS T I9 T2 2 |
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2. Ministers hold the office till they enjoy
confidence in the Parliament.

3. Cabinet is headed by the Head of the
State.

Select the correct answer using the codes

given below.

(@) 1 and 2 only

(b) 3 only

(c) 2 and 3 only

(d) 1,2 and 3

59. Consider the following statements:

Attorney General of India can
1. take part in the proceedings of the
LokSabha
2. be a member of a committee of the
LokSabha
3. speak in the LokSabha
4. vote in the LokSabha
Which of the statements given above is/ are
correct?
(@) 1 only
(b) 2 and 4 only
(¢) 1,2 and 3
(d) 1 and 3 only

60. “Economic Justice” as one of the

61.

62.

objectives of the Indian Constitution has
been provided in
(a) The Preamble and the Fundamental
Rights
(b) The Preamble and the Directive Principles
of State Policy
(c) The Fundamental Rights and the
Directive Principles of State Policy
(d) None of the above
Which one of the following reflects the
most appropriate relationship between
law and liberty?
(@) If there are more laws, there is less
liberty.
(b) If there are no laws, there is no liberty.
(c) If there is liberty, laws have to be made
by the people.
(d) If laws are changed too often, liberty is
in danger.

With reference to the Parliament of India,
which of the following Parliamentary
Committees scrutinizes and reports to
the House whether the powers to make
regulations, rules, sub-rules, by-laws, etc.
conferred by the Constitution or
delegated by the Parliament are being
properly exercised by the Executive
within the scope of such delegation?

(a) Committee on Government Assurances
(b) Committee on Subordinate Legislation

JATF CET — 2022

3. ST T AT g HOAHSH T JeTeT 2T 2
= 3T 10 Fe T AT X TRl 39 AT
(a) 13 2

(b) Fa< 3

(c) Fae 2 =7 3

(d) 1,23% 3

59. Fwfafea F=eT o= T fifsme:
AT T GRTATIATET
1. ATREHAT T FEATEr § AR o ThdT 2l
2. AT FT et afefa &1 e g1 ahar gl
3. ATHEHT | FA Tl B
4. ATFIAT H HAGE FT THhaT g
ST FAAT H F HF-AT/H Tl 5/3?
(a) Fa 1
(b) Fa 2 T 4
(c) 1,23¥ 3
(b) Faer 1 3T 3
60. WA €9 & LA A & TH & € § "HAITH
" FT Iusy heH AT T g2
(a) ST T g aferwT
(b) IEFAT 3T 57 T A * Faw T
(c) = ATIFIT 3T T i AT o e aa

(d) ST | & Fr o7 TEH

61. fafyr six @refivar & fi=w Tad ST 9y v,
Rufafes & & Fiw yfafafea war g?
(a) =t fatert stfaer gt 8 a7 warehi=ar w7 gt
|
(b)i&ﬁfﬁraﬁ%aﬁw&ﬁﬂm%ﬁaﬁ%
(c) =f= TaTdiaar g av fAfer-fAwior SH=ar 1 #wr
|
(d)gﬁfér—qﬁaﬁ? J-IE ZET g qr a8
TFTAT & o =@aT gl
62. YR & 9 F UaW A Fuffeg & T -t
HEQT GATT et QErET HAT § AT q&A @
T wt g & s fataem, g, sa-Rew, sa-
fafer, sk svm=r i ot @fEam g0 =T §
7 G ERT TG & ST FRAqTIHT gRT
T AT (Sferter) fi afRkfer F fiax sfa
T 37 @ 8P
(a) TLHRTT AATHAT Haeft Fiufa
(b) srefieesr faem "@eeft afafa
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63.

64.

65.

66.

(c) Rules Committee
(d) Business Advisory Committee

Democracy’s superior virtue lies in the

fact that it calls into

(@) The intelligence and character of ordinary
men and women.

(b) The methods for strengthening executive
leadership.

(c) A superior individual with dynamism and
vision.

(d) A band of dedicated party workers

Which one of the following statements is

correct?

(a) Rights are claims of the State against the
citizens.

(b) Rights are  privileges which are
incorporated in the Constitution of a
State.

(c) Rights are claims of the citizens against
the State.

(d) Rights are privileges of a few citizens
against the many.

What would happen if phytoplankton in

an ocean are completely destroyed for

some reason?

1. The ocean as a carbon sink would be
adversely affected.

2. The food chains in the ocean would be
adversely affected.

3. The density of ocean water would
drastically decrease.

Select the correct answer using the codes

given below:

(@) 1 and 2

(b) 1,2 and 3

(c) 3 only

(d) 2 and 3

What are the possible impacts of heavy

grazing by animals?

1. Quality of grasslands deteriorates
rapidly.

2. Mulch cover of the soil increases.

3. Xerophytic plants and burrowing
animals decline.

4. Grassland microclimate becomes more
susceptible to wind and water erosion.

Choose the correct option

(@) 1, 2 and 3 only

(b) 1 and 4 only
(c) 1, 3 and 4 only
(d) 1 and 3 only

67. Which of the following are the reasons for

depletion of wetlands?
1. Aquaculture
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(c) Fraw wfafy
(d) F1T FATEFR (ferstae U=arse) afufa
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(a) st AT 3 g T &% 3T 2
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66. TE I AT AT & TATAT THTT 4T 52

1. AT % #3491 & [urEar § as [{ierae grr
2l

2. W& % Hod A&a0 § gi gt gl
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67. AR F &I & [Hforiad § & Hid-8 HT &2
1. W& I
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2. Agriculture runoff and industrial
effluents
3. Removal of sand from beds
4. Eutrophication
5. Nutrient cycling
Choose the correct option:
(@) 1, 2 and 3 only
(b) 1, 2, 3 and 4 only
(c) 2, 3 and 4 only
(d) All of the above

68. In the context of ecology, Antibiosis
refers to

(a) Competition between organisms of the
same species.

(b) An association between two species,
where one species kills to feed on the
other.

(c) A relationship in which one organism is
benefited by direct utilization of another.

(d) Secretions by an organism which are
harmful to others.

69. Which of the following is not the
characteristic(s) of mangroves?

(a) Production of pneumatophores to
overcomes respiration problem.

(b) Thick leaves that contain salt secreting
glands.

(c) One of the adaptive mechanism is
Oviparous reproduction to overcome
problems of germination in saline water.

(d) Emergence of stilt and adventitious roots.

70. Which of the following pollutants are
considered in the measurement of Air
Quality Index (AQI)?

Carbon dioxide

Ammonia

Lead

PM 2.5

Ozone

. Nitrous oxide

Choose the correct option

(@) 1, 4, and 6 only

(b) 2, 3,4 and S only

(¢) 1,4, 5 and 6 only

(d) All of the above

71. Which of the following statement is
correct regarding Farming and cropping
systems?

(@) In the Mixed cropping there is
competition between component crops

(b) The main objective of intercropping is
insurance against crop failure

(c) In Crop rotation, the main objective is to
utilize the space between rows of mains
crop and to produce more grain per unit
area.

ouh LN
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el faser g
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. FTEA TSRS
. ST
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AT
qTEed AFTES
el e g
(a) FaA 1, 4, 3T 6
(b) 2, 3,435
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(d) ST aF
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(d) Mixed farming refers to a system of
farming which involves cultivation of
diverse crops simultaneously.

72. Consider the following terms and their
definitions-

1. Environment : It is a combination of
biotic as well as abiotic conditions
existing on earth

2. Ecosystem: It is a system formed by the
interaction of all living organisms with
each other and with the physical
and chemical factors of the environment
in which they live, all linked by transfer
of energy and material.

3. Biosphere : It is a narrow zone of the
earth where land, water and air interact
with each other to support life.

Which of the above are correctly matched?

(a) 3 only

(b) 1 and 2 only

(c) 1,2 and 3

(d) 2 and 3 only

73. Consider the following statements about
coral reefs:

1. Coral reefs are one of the most
productive and complex coastal
ecosystems  with  high  biological
diversity.

2. In India coral reefs are found in Gulf of
Mannar, Gulf of katch, Andaman and
Nicobar Islands.

Which of the above are correct?

(@ 1and 2

(b) 1 only

(c) 2 only

(d) None of the above

74. Match the following
A. | JawaharLal i.
Nehru Port
B. | Marmugao ii.
Post
C. | Ennore iii.
D. | Panambur iv.
Chose the correct option
A B CD
@ S 3 21
) 4 1 2 3
S5 3
1

Goa

Tamilnadu

Karnataka
Maharashtra

¢ 2 1
d S5 3 4
75. Which of the functions payments banks
can perform?
Issue credit card
Grant loan
Accept time deposits
Bancassurance

N
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(a) Fad 3
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(c) 1,233
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(a) 132
(b) T 1
(c) & 2
(d) =0 F FTE TLN

74. FAafiEa & grfaa fice

A | FEETAE Fqgw |10 | T
qre
B | @ qrd ii. | fierTg
C |Tsle iii. | FATeF
D | qar T iv | AERTY
SEUREER AR
A B CD
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76.

77.

78.

79.

80. The team

Choose the correct option:-
(@ 1,2,3
(b) 2,4
(c) 1,3, 4
(d) 3, 4
Consider the following statements
1. SLR is percent of a total deposit which
is deposited by the Bank with RBI.
2. With in SLR Rate, Money
supply in economy reduces.
Which of the above is/are not correct?
(a) Only 1
(b) Only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

increase

Which of the following statement is/are
correct regarding monetary Policy
committee (MPC)
1. It is headed by one of RBI’s deputy
governor.
2. It decides the Inflation band in the
country.
3. MPC should meet at least 4 times in a
year
Choose the correct option
(@ 1and 2
(b) 2 and 3
() 3 only
(d 1,2and 3
Star rating of BEE mandatory for which
devices?
1. Electric Geyser
2. Frost free refrigerator
3. Room AC
4. Colour TV
Choose the correct option
(@) 1and 2
(b) 2 and 3
() 1,2and 3
(d 1,2,3and 4

Intensified Mission

related to

(a) Education of street children

(b) Promoting Culture of India

(c) Malnutrition

(d) Vaccination of children and pregnant
women

Indradhanush is

“Base Erosion and Profit
shifting” (BEPS) is used in context of:
(a) Tax evasion

(b) Manufacturing process
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76. Rufafea o=l 1 =R fifvw:

1. JeTiae aa@ar dqard (SLR) Fof STET #T
gfererd g, S s gTeT .1, 3rs. 3 I S|y
[ERIESIEIE

2. FYTHF qeaqr a1 (SLR) & & Fhg =+
AT, AFFEAT § AT YT FF gl 1t gl

ST FAAT H F FIA-9T/F G 781 5 /8 ?

(a) Fa 1

(b) Faet 2

(c) 1 3% 2 3=t

(d) TAT 1 3T T & 2

77. wifew fifa afafa (MPC) % deg & Raem d
¥ &I 97/F FI9 G981 5/5?
1. THET STeaeqar A AT s, & o e o
H T T Al ST &l
2. IAZ I H HATEhRITT AT AT [Heifa Fdt gl
3. difes Hifq at9fa (MPC) %t a9 § &7 & 7
4 I I T ATRT
el fased i
(a) 13T 2
(b) 2 3T 3
(c) Fa« 3
(d) 1,233
78. F9-¥ IR ¥ AT §.3.3. (BEE) i &K
e sfad g2
1. gt s
2. WhiTe WY IRSveT
3. &9 U.H.
4. FAC T4t
wel faser 3
(a) 13T2
(b) 23T 3
() 1,283
(d 1,2,3%T4
79. 9 MR xaqy 9 §

(a) =TT agi & forer

(b) ATET T T HI TETAT AT
(

(

d) srgl i< Tt wigarstt 1 dHreeor
80. ITHTT & ST ATH FEATALW (BEPS) FT START
o "o ® T3 StraT g2
(a) T =T
(b) fafawtor s
(c) smsguror =TT
19



(c) Jewellery making
(d) None of the above

81. “Agreement on agriculture” (AOA) is
sometimes seen in newspaper. Consider
the following statement:-

1. AOA has been signed under food and
Agriculture organization (FAO).

2. India did not signed “Peace Clause” an
exception under AOA for developing
nations.

Which of the following statement is/are

correct?

(a) Only 1

(b) Only 2

(c) Both land 2

(d) None of the above

82. Consider

SDGs

1. WHO has released 17 SDGs.

2. NITI Aayog is the implementing agency
for SDGs in India.

3. SDG India Index is released by NITI
Aayog and WHO.

Which of the following is/are correct?

(@) Only 1

(b) Only 2

(c) 1and 3

(d 1,2and 3

following statements about

83. Which of the following are direct sources
of information about the Earth's interior?
1. Earthquakes
2. Volcanic eruption
3. Rocks obtained from mines
4. Meteors

Select the correct answer using the code given
below.

(@) 1 and 2 only

(b) 2 and 3 only

(c) 3 and 4 only

(d) 1 and 3 only

84. Which of the following borders South
China Sea?
1. Phillipines

2. Malaysia

3. Laos

4. Vietnam

5. Myanmar
Choose the correct option:
(@ 1,2and 3
(b) 1,3 and 5
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(d) SUEE & & FrE oft 7t
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83.
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(a) Fa 1
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(a) Faer 1 3T 2
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3

4
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() 2,4and 5
(d 1,2 and 4

85. Which of the following is the southern-

86.

87.

88.

89.

90.

most national park in India:
(a) Campbell Bay National park
(b) GalatheaNational Park
(c) Mahatma Gandhi Marine National
Park
(d) Mount Harriett National Park
The old stage of the cycle of river erosion
is characterized by
1. Decrease in channel gradient
2. The absence of the down cutting of the
valley
3. Rivers
courses
Select the correct answer using the code
given below.
(@) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3
Which of the following are the effects of
rotation of the Earth?
1. Change of day and night
2. Change of seasons
3. Direction of the Wind
4. Movement of ocean current
Select the correct answer using the code
given below
(@ 1,2and 3
(b) 2,3 and 4
(c) 1,3 and 4
(d 1,2,3and 4

adopting highly meandering

Tropic of Cancer passes through which of
the following states?

1. Rajasthan

2. Mizoram

3. Tripura

4. Gujrat

Select the correct answer using the code
given below:

(@) 1,2 and 3 only

(b) 2, 3 and 4 only

(c) 1,2 and 4 only

(d) 1,2,3 and 4

Tista or Teesta River forms the boundary
between
(a) West Bengal and Sikkim
(b) West Bengal and Bihar
(c) Assam and Sikkim
(d) Sikkim and Bhutan
In the context of Indian history, the
principle of ‘Dyarchy (diarchy)’ refers to
(a) Division of the central legislature into
two houses.
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86.
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88.

89.

(c) 2,435

(d) 1,237 4

AufafeT & ¥ =9 =g § oo ke agiy
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(b) Introductions of double government
i.e., Central and State governments.

(c) Having two sets of rulers; one in
London and another in Delhi.

(d) Division of the subjects delegated to
the provinces.

91. Which of the following statements are
true regarding the Bengal revolutionary
organizations in 1920’s?

1. Anushilan group joined forces with
Subhas Chandra Bose.

2. Yugantar group backed the efforts of
J.M.Sengupta.

3. The most active and famous was the
Chittagong Revolt group under Surya
Sen.

Choose the correct statements:

(@) 1 and 2

(b) Only 2

(c) Only 3

(d) None of the above

92. Consider the following statements:

1. Ramprasad Bismil, Ashfaqullah Khan
and Rajendra Lahiri were hanged in
Lahore Conspiracy case.

2. Bhagat Singh, Sukhdev and Rajguru
were tried in the Kakori Train Robbery
case.

Choose the correct statement:

(@) Only 1

(b) Only 2

(c) Both 1 and 2

(d) Neither 1 nor 2

93. Who was the first president of All India
Trade Union Congress (AITUC) founded in
1920?

(a) Bhagat Singh

(b) LalaLajpatRai

(c) DewanChamanLal

(d) Subhas Chandra Bose

94. Which of the following initiatives marked
Mahatma Gandhi as a nationalist?

(@) The initiatives in Champaran,
Ahmedabad and Kheda marked
Gandhiji as a nationalist with a deep
sympathy for the poor.

(b) The initiatives in South Africa marked
Gandhiji as a nationalist with a deep
sympathy for the poor.

(c) The initiatives Khilafat movement of
1919-20 marked Gandhiji out as a
nationalist with a deep sympathy for the
poor.

(d) The initiatives Non-cooperation
movement of 1920-22 marked Gandhiji
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as a nationalist with a deep sympathy
for the poor.

95. Consider the following statements:

1. “Do or Die” slogan was given by
Mahatma Gandhi.

2. “Jai Hind” slogan was
JawaharLal Nehru.

3. “Jai Jawan Jai Kisan” slogan was given
by LalBahadurShastri.

Choose the correct statements:

(@) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d) All of the above

96. Ilbert bill was related to
(a) Press
(b) Education
(c) Judiciary
(d) Executive expansion

given by

97. Which of the following statements are
correct?
1. Subsidiary Alliance  System
introduced by Lord Curzon.
2. Doctrine of Lapse was introduced by
Lord Dalhousie.
Choose the correct options
following:
(@ 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
98. Which of the following were the reasons
for French decline in India?
1. French army was no match for British
army
2. French monarchy had no stakes in the
French company
3. French were engaged in continental
expansion in Europe
Select the correct answer using the code
given below:
(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 only
(d 1,2and 3
99. Sarda Act was related to
(a) Women education

(b) Widow remarriage
(c) Age of consent
(d) Women property rights

was

from the
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100. Which of the following statements
is/are correct regarding BrahmoSamaj?
1. It opposed idolatry.

2. It denied the need for a priestly class
for interpreting the religious texts.

3. It emphasized on modern education.

Choose the correct statement(s):

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 only

(d) 1,2 and 3
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100. g 99 & day # Awfafeg & & #19 @v/+9
FIT W /P
1. =A9 qgiagem & &g B
2. THA YT AT AT =ATEAT F forw qifed awt
FT e T fam|
3. zEW g fer 97 a« fa=m
7 o R
(a) Fae 1 3% 2
(b) Fae 2 3T 3
(c) Fa 1
(d) 1,233
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PART II (APTITUDE)

PASSAGE - 1

UNEP defines Environmental Impact
Assessment (EIA) as a tool used to identify the
environmental, social and economic impacts of a
project prior to decision- making. It aims to
predict environmental impacts at an early stage
in project planning and design, find ways and
means to reduce adverse impacts, shape
projects to suit the local environment and
present the predictions and options to decision-
makers. By using EIA both environmental and
economic benefits can be achieved, such as
reduced cost and time of project implementation
and design, avoided treatment/clean-up costs
and impacts of laws and regulations.

101. Which of the following is the most
crucial and logical inference that can be
made from the above passage?

(@) EIA can eliminate the environmental

impact of a project.

(b) EIA is time-consuming and costly
exercise.

(c) EIA is an area specific tool and it leads
to socio economic and environmental
benefits.

(d) None of the above.

PASSAGE - 2

Empirical evidence suggests that spending more
on health leads to higher level of social mobility
across society. The earlier in life some policies
are pursued, the less interventions may be
needed through other policies which may prove
more costly and less effective later in life. Public
investment in health has the potential to
improve social mobility over the life course and
across generations—for example, by cushioning
income losses or necessary labour market
changes when health issues arise. What matters
is to not only spend more, but to also ensure
spending is effective and targeted. For instance,
a strategy based on greater investment in
children targeting those from lower socio-
economic backgrounds holds the promise of
breaking the cycle of inter-generational
disadvantages.
102. The critical message conveyed by the

author seems to be,

(a) Labour laws should factor in worker’s

health and occupational safety
(b) Universal health insurance coverage is
a must
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W7 I ()
TR=eg -1
TIh Y IATa20 FH%H (UNEP), 9aia<oiia g919
ArwAq (EIA) &1 FRET IR 92 Aoi o 3 98
IR qATALN, AT ST iy Jomat it 9g=m
FOA g START TR0 ST AT ITHTUT F ®T § AT
FAT gl EIA &7 39T IIWE® FX07 & = af
RS F A o RS & aatawef g9t
T QATLHTT AT, TR TATAT H FHH FA & aLlh
S FTLT GISAT, T T & e TR TSAT3
FT ATHRR AT 3T FAoigeraten F forg qaigame i
fareed T&qq AT g1 EIA FT ITINT HiTeh TIaL0 31T
AqtdF T qg F AT WTH R ST "ed g, -
TRASET F FATEAA ST BSred # 9 arell A
T 9T AT Al gAd| THE FAATAT STATL / ATH-THIE
it AT "igd wrAr o AT F g & | =
ST T Bl
101.394< TR ¥ Fufafea & 4 ®9-91 999
AEE@YUT ST qTfehas MRy HahTAT SIT Gt 82
(a) EIA et oS & qaiaotis w91a i
THTH T qhal gl
(b) EIA THT o« ATAT 3T Wl ThhaT g
(c) EIA U= &= fafare a1 g o 78
AT ST ST TATaui ™ AT Ja
FAT Bl

(d) SF & & Frg oft 7N

TR=T -2

AT FIEAT 6 ATHTL TATET T ATAF @H Fided &
TS | ATHTISTR Taefierar 1 &2 3¢ grar g1 Sta+
H oAt Seat T Afaat 1 SAgaer T Srar 2, 6
A= F ATEAH T IA9 S FH gEALAT T ATTAFRAT &l
TFHAT &, 51 a8 H St H A8 Tt o F7 TA7eT
qited g "@Edar gl w@reey ® O fFEr o
ST /A fAaer, =0 qaq sttaq 9w fifzay
& Toro qraTior wiaefierdr § g FT it fqwar TEdr
gl IR & forw, waresy et qEi & IAT g U
AT HT FIA A FHF FHAT AT FH7 a9 | AETH
gREdT FEATI T Fae AYF @ FAT, died G HT
TATAT 3T ATAT FAT EATHT FIAT AAT T@AT gl
3aTeer & forw, e ararfor-anfds gogfa & agi #
AT T ATel terew foarer ux smemfia Torifa & -
TL-AE FAT o Tl &t /THATT F b Hl ISl
AHAT Il 2l
102. AE@F FI AT T Ag@0T €9 I g1 99dT &,

&4

(a) =7 FIIAT FH ATHFRT F FGTET AT

FTIATH FLEAT T AT A7 A5 T
(b) TTEAATIF TaTEST AT FALT AALTF B
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(c) Inclusive growth is founded on effective
tertiary healthcare system
(d) Primary health care is most crucial,
robust and costly sector of healthcare
industry.
PASSAGE - 3
It is said that it takes 21 days to develop a new
habit. However, in a crisis, we may learn quite a
few overnight. It also reminded us of certain
tenets that we have always known. For instance,
it is possible for individuals, communities, and
nations to respond to a planetary crisis within
days. The nature of the response in different
settings, however, depends on leadership, the
quality and strength of local institutions,
resources deployed and the ability to deliver
straightforward and meaningful messages
regarding behavioural change. That implies
building shared program mes of knowledge and
action for collective welfare, not fortress worlds.
103. The critical message conveyed by the
above passage is
(a) Humans are quick learners
(b) Excellence is not related to habits but
to collective resilience
(c) Crisis is a time for planetary solidarity.
(d) Social capital can foster sustainable
ecology of planet.

PASSAGE - 4

Economies today operate like delicate living

systems, but lack the self-awareness required to

find a healthy equilibrium for its constituents.

Capital flows in and out of economies like blood

circulates. In this flow, the predominate modern

global economic system (free market capitalism)
produces an abundance of wealth, but the

system has not resolved the issue of achieving a

more even distribution. Smart economies must

be sustainable, just and inclusive to ensure solid
foundations are laid for social development, well-
being and prosperity.

104. With reference to above passage, which
of the following could be the most
rational and logical implications?

1. Smart economies must promote new
forms of exchange that create new
commonwealth

2. Indian mixed economy is most suitable
for making a trickle-down capitalism

Select correct answer using the code given

below:

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor
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(c) wHTASAT TEhTe TATAT g JIATS TUTAT
T AT Bl
(d) TR TS @IS, TS AT 3
FT FIH HEeAL, AT AT T & )
Ti=ag -3
Tl STaT g o6 7% aaq #f Fwtag e # 21 i
TS &1 FTACh, UH Tehe F a1 g9 TTai-4rd FThr
% ®1e o 8 T8 gH e U gt i off =g e
2, o2 g0 2o ¥ S g1 Sergr F forw, s,
HHATAT ¥ TP F AT gt O S0 R A T &
et & S% 39T 9wa ) greith, fAteer et /3en ®
gfafsrar &1 TFfa agf & aqgca, T SeAE i
TUTET T &AHAT, GATd SHTeHT 3T AT Tadd &
Tae H T 3T AT Ha9T & ol e7Har 9¥ 9w wear
El
103. ST TR=gE IR AT AT Agaqe He9 g
(a) AeT of e @ ATer JToft 2|
(b) IHEAT FT € Al & A5l dIiod AT eF
AT I Bl
(C) The FT AT TAT o ANTT =l Teho[edT &l
THT B
(d) |TETSI IS AT i TATAT TR tas wi
JETAT < Tl gl
R=e -4
STFTEATT. AT AT / FAaa9fier Strae ot i a3g
FI FLAT §, AR T Thl 6 [oIT U Tq€ HIAT
TS gq TAH AT ® SACH-SIN&HAT &/ A9 gl
FATFEATAT § g1 IHT q¥g TATRd gidl g S eRiY
H T FT 9 Z1AT gl T TAT8 |, THE A F afa
AT TOITAT (T AT gotiars) T A7 | 4
IATE FAT 8, AR 26 TOITAT o stfers gare faaeor
T FT % Hg & g gl hAT gl ATHISE [T,
FATI 3T TqE F 0 31 e fa=T v 3q T
FATAEATAT T HLTLONT, ATIET AT FHTAAT FAT
EHEL
104. 394 TR=T & da¥ H, Mefaied § & fa-ar
Tad sl six arfaes Rarl fi=-ar g
AT g?
1. Tq1e derawrent & AfFuT & 9 =90 #+
FETAT IAT ATRT, ST 7% AT HI&T &1 HATT
FA B
2. ATy fafara sreeraear ey fgia (fewar-
TTSA) TR gitars & forg Ja9 IUIF 2l

H=r fRU U e AT IR FT TET I FA0:
(a) Fae 1
(b) Fae 2
(c) 1 3f¥ 2 =™t
(d) TaT 13T S
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105. 20% of students of a particular course  105. ¥t AT TETFA F 20% FrAT F A g

get jobs within one year of passing. 20% F T a9 & e A e ot g1 9w 3 F
of the remaining students get jobs by the F 20% ¥ IA 2 F gE A F 7 7F A
end of second year of passing. If 1600 5 T )
students are still jobless, how many aﬁ;rﬁﬁ > &l q? 1600 W;ﬁ ﬁﬁ ;S é’
students had passed the course? AT T ST ar
(a) 3200 (2) 3200
(b) 6400 E‘g)) 2‘5*88
(c) 2500
(d) 10000 (d) 10000
106. A train crosses another train running 106.Tx RATHIRM AT G @O TR AFTH
in the opposite direction in 5 sec. What TR F g T S afd w=awg?
is the speed of the second train? A. T I FEE I T
A. Both of the trains are running at the - .
same speed. B. T & 100 =¥ <=1 €
B. The second train is 100m long. F:
Code: ()A3ﬁ'{BT{EFHT?I
(a) A and B together ( ) Fae
B
() Only ()Aaﬁ'{Baﬁﬂ‘r%ﬁ@mawﬁT@%n

(d) A and B together is not sufficient

107. In a certain coded language, SUBLIME  107. % fAf3rq g smar &, SUBLIME T BEILMSU % &9

is coded as BEILMSU, NASTY is coded as # Feag fHam STar 8, NASTY &1 ANSTY & &9 #
ANSTY, then DIVINE is coded as Feds AT STar g, f DIVINE &t Feag fam
(a) DIEVIN STTUATT:
(b) DEIINV (a) DIEVIN
(c) VNIIED (b) DEIINV
(d) NIVIED

108. Three fishermen caught fishes and 108.{ q@aﬁ T AT Theq & 91 97 T 390 o
went to sleep. One of them woke up,'took TF 33T IR iﬂﬁ Fi SF F {97 Sav T
awasf one fish ar.ld 1/3rd oftl,le remainder el 3 AT FT 1/3 9ET AT %ﬁ % w7 i
:s his share, without others l:m.owledge. T fram) T2 & 37 S19F ¥ 30 E‘ﬁ“ T A

ater, the three of them divided the . .

remaining fishes equally. How many W—W ate faam o ot wferat Tt
fishes were caught? L "ﬁ"
(a) 58 (@) 5
(b) 19 (b) 1
(c) 76 (c) 7
(d) 88 (d) 8

109. Amoebae are known to be doubled in 3  109. sftaT 3 e ¥ ST TN * oy fAewTa {1 &

m1nute§. Two 1dent1.cal vessels A and B THTT 9 A AT B & 9T TF A< Y refar €
respectively contain one and two .

amoebae to start with. The vessel B gets I B 3 S § W ST €1 9 A F AG?
filled in 3 hours. When will A get filled? (a) 3 <

(a) 3 hours (b) 2 =< 57 fome

(b) 2 hours 57 minutes (c) 3 %% 3 fame

(c) 3 hours 3 minutes

(d) 6 hours () 6%
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110. In a certain coded language, “Science
is evil” is written as- “347”, “Science has
assumptions” is written as “385”, and
“Assumptions is false” is written as-
“541” Then what will be the code for
“evil”?

(a 3
(b) 7
(c) 4
(d) Cannot be determined

111. There are six persons A, B, C, D, E and
F, who have different weights. E is
heavier than only F. B is not the heaviest.
C is lighter than both B and A. The
number of persons heavier than A is same
as number of persons lighter than C. How
many persons are heavier than C?

(a) Three
(b) Four
(c) One
(d) Two

PASSAGE-5

Once human development exceeds the planetary
capacity for self-repair, environmental assets
can collapse and disappear, never to reappear.
Admittedly, some environmental assets and
functions are repairable or substitutable
(individual trees can be replanted; water can be
transported), but many others (a delicate
wetland habitat for example) are not. In practice,
the environment often responds slowly to
human interventions, and ‘local’ problems are
sometimes only the observable tip of much more
complicated and spatially dispersed processes.
For instance, the pressure to pollute a local river
with fertilizers may stem from a national policy
to intensify agricultural production in order to
compete in world markets. This raises the
question of how decisions should be made at one
level when consequences for other levels or
sectors cannot be easily predicted. Should
decision-makers err on the side of caution or
proceed hoping that unfavorable consequences
will not arise?

112. Which of the following is the most
significant corollary flowing from the
above passage?

(@) Fourth industrial revolution will turn
diabolical unless precaution is not
exercised in resource extraction by
industries.

(b) Precautionary principle has high policy
significance in light of untoward
consequences a growth policy may have
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110.tx Afdra e W &, "Science is evil" &t
"347" % &7 § fo@r SaT g, "Science has
assumptions" T "385" & &7 # for@T wTav
¥, S "Assumptions is false" &l "541" %
&7 ¥ for@r Smar g1 a9 “evil” & T Fe =T

111.5€ =~r A, B, C, D, E X F g, ST o
HAT-AT gl E Faar F & A4 &1 B 999 914
&l g1 C, B 3T A ST & T g1 A ¥ 9T
feal T §&aT C & goh AKRAT 6 §&lT ®
a1 C & b =afe wrh g2
(a) &=
(b) =TT

(c) TF
(d) &

TR=g -5
UF 9T T AT9E (o1, Ug it T2 il T d Hid il
SHAT | T8 T STaT §, a7 T qqdr 9L ar
TFHAT & AT T &I Tl 5, adT F T w+ft Johe T80
g AFAr gl A9, T TAEUT qOtdl S A
T AT AT IIAeIT9_ TR ¢ (SARETT U2t #7 {6
H TR ST HHhaT g; T H7 T dg a1 ST a7 8),
AR F2 7T (I & [T T Haaasiar a9H)
T FEEd AT ITAeATI= A1 BT ST g1 81 a8
H, TATEL0T AT AT geaedi = gid gt sfafrar
FAT &, T TAE G0 FA-FAT agq Afeh
Sfee i waTA® &9 4 FeAl g5 whnaret 7 Fad
AT AT 9T AT BIAT gl IS 6 [olT, IaLaH!
F ST U ST AT H TZIUT FA T 2919 J5T6
TSI # Sfaeaed w3 & o T IcTa &f a5 wed
FT TP AT | I BT THAT g1 TT T IodT &
TF T T [0 w6 R S =T U S e wqw AT
ST o IO T WreTaroil et & Jgi 6 o
aEdT g1 FAT Ao o9 aret #r arEgEr F 9 H
fe=fora gmT =TT o1 78 Wi F3d gU AN agAT
ATRT o Tiader TR Icae 981 giv?
112.3574w wR=g ¥ WA TEis  wEEq
S/ A (Fe) Fefafea & 9 s 9-
|71 8?
(a) =TT =T Fifd T T TOIATET gF T,
S % [ AN FRT qEvE Hewu #
TATTLTHT TRl Tt ST
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(c) Resource efficiency is the most desirable
principle that humans ought to follow
today to survive themselves

(d) Ecological footprint should be
calculated and kept under carrying
capacity of the planet.

113. A clock is set right at 9 a.m. The clock
gains 10 minutes in 24 hours. What will
be the true time when the clock indicates
2 p.m. on the next day?

(@) 48 min past 12
(b) 46 min past 12
(c) 44 min past 12
(d) 40 min past 12

114. A, B and C invest in a business in the
ratio of 22:30:23. After 4 months, A
increases his share by 50% and after 6
months B decreases his share by 50%. If
the total profit at the end of one year be
Rs 44900, then B's share in the profit is-
(@) 300
(b) 500
(c) 12000
(d) 13800

Passage-6
In general, religious traditions stress our duty
to God, or to some universal ethical principle.
Our duties to one another derive from these.
The religious concept of rights is primarily
derived from our relationship to this divinity or
principle and the implication it has on our
other relationships. This correspondence
between rights and duties is critical to any
further understanding of justice. But, for
justice to be practiced; rights and duties
cannot remain formal abstraction. They must
be grounded in a community (common unity)
bound together by a sense of common union
(communion). Even as a personal virtue, this
solidarity is essential to the practice and
understanding of justice.
115. With reference to the passage, the
following assumptions have been made:
1. Human relationships are derived from
their religious traditions
2. Human beings can be duty bound only if
they believe in God
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(b) e AT F afager aRomAt F s #
ngfaaTdt frgia #1 3g v #ga gl

(c) HETE F&AaT HAT(EF At 1T HETT &, e
AT TAST FT TqF % SAad @ % (o0 qrel
FIAT ATR T

(d) SFrATIEwR Fefiee & ToET fit JET AR
AT I T/IeR AT FgH AWdr F AqEN
[ERIESEEEIRCICIRC I EL

113. T T gag % 9 a9 T GHY Tal @ @ &1 98
ST 24 W § 10 e onr 93 St g aEaas
qET AT NI, 9 AT 3 o g F 2 T

feETwfT?
(a) 12 o 48 fe (pm)
(b) 12 =T 46 A== (pm)
(c) 12 = 44 f=e (pm)
(d) 12 == 40 e (pm)

114. A, B 3iX C T& a9 # 22:30:23 & AITT
# e #7a €) 4 99 F 918, A oaw R #
50% it gfe FTAT § 3T 6 A % I8 B I
R # 50% # FHT Far g1 A wF a9 & 3q
H F ATH 44900 TII g, T7 a7 § B 1 IFer
3
(@) 300
(b) 500
(c) 12000
(d) 13800

TR=3%-6

TATHT T I, LTI TLIL0 S AT Rt aradiies

At g & I g9 FaeT 9T 9 <l 81 Uh ga<

% 9T AT FdeT Tral o METd gId gl ST o0t

ST AT q&T =9 F 26 3904 AT Hgiq & arg

AT FaeT 3T gAY o+F Ha el 9T 38 gt | of

TE RATAFTN ST Fd=At F it 7 Heer =7 i

AT i Fwer & forw Aeaut g1 it = i s

% forT; STfareTe 3T FdeT g =T T Tal 18

Tl | 372 Ueh UH GHETT (ATAT UHAT) T 1A gieT

FMEY ST UFH THE (THAT hl) ATEAT F a8 gl TH

STTRRAT T[0T & =T | S, =TT & SA¥ATH 37T THHA o {10

TE THSAEAT AA9TF 2|
115. 9f=3T ¥ e+ &, Rufie gromt a=rg 7% §:
1. AT Haer Ieht grie TEaersl § I g

g
2. U FdeT 95 qTHT T AT & T A AT H
s ¢
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3. Religious traditions are essential to
practice and understand justice
Which of these assumption(s) is/are valid?

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

116. Which one of the following is the crux

of this passage?

(@) Our duties to one another derive from our
religious traditions

(b) Having relationship to the divine principle
is a great virtue

(c) Balance between rights and duties is
crucial to the delivery of justice in a
society

(d) Religious concept of rights is primarily
derived from our relationship to God

117. The average rainfall for a week
excluding Sunday was 0.4 cm. But there
was a heavy rain on Sunday and the
average rainfall for the week raised to 1.6
cm. Then the rainfall on Sunday is:

(a) 8.6 cm

(b) 7.2 cm

() 8.2cm

(d) 8.8 cm
PASSAGE-7

Climate change is a complex policy issue with
major implications in terms of finance. All
actions to address climate change ultimately
involve costs. Funding is vital for countries like
India to design and implement adaptation and
mitigation plans and projects. Lack of funding is
a large impediment to implementing adaptation
plans. The scale and magnitude of the financial
support required by developing countries to
enhance their domestic mitigation and
adaptation actions are a matter of intense debate
in the multilateral negotiations under the United
Nations Framework Convention on Climate
Change (UNFCCC) The Convention squarely
puts the responsibility for provision of financial
support on the developed countries, taking into
account their contribution to the stock of
greenhouse gases (GHGs) in the atmosphere.
Given the magnitude of the task and the funds
required, domestic finances are likely to fall
short of the current and projected needs of the
developing countries. Global funding through
the multilateral mechanism of the Convention
will enhance their domestic capacity to finance
the mitigation efforts.
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3. FATT &7 9TAT FA 30T a9z & forw enfies
IO AT B

ST | H HIFA-HT GTLTT/ETIOTT I /52

(a) Fae 1

(b) Fae 2 =T 3

(c) FaeT 13T 3

(d) 1,253f% 3

116. Rufafed & & F9-a1 36 1= FT 91 g2

(a) T TAY F VT ZHTL Fd e AT T Teaersi
I Fertfia g 2

(b) T T & Taer T@AT UF W 7 &

(c) SATERTT i< et o = e q9TST § #A7T
TET T F fore wgeal 2

(d) srferwTet & erfie sraemeoT ger w9 § $AY %
AT HTE Hael 7 A TE g

117. AR FT FIEH TH T 9 awi 0.4
e o afe W@eEr & 9 aut g &)
qaTg & U sag awi & 7T T@9 1.6
H&HHeT g 7)1 Rar F frasdt aut g2
(a) 8.6 THY
(b) 7.2 T
(c) 8.2 Tt
(d) 8.8 &t

=R -7

AT TAAT Uk STteet AITTd qal g foreer & &

T ¥y [AfRard 81 sorarg aiaay & e & oo

AT FLATAT | Siqd: FIE AW AT Fradt gl TR

SE e % T e ST gqwd ASeTen T

TRATSETA #2137 Faifeaa w7 % forw o=

T HEAT0T &l ATHAT ATSTATA Tl AT e § &

1 FHHT TF FET A1T 71 FAwrEefter 29 ST St ;e

T 3T AqHAT FAATGAT H & 6 (T AFLTF

Tl g T=raT &1 G| S IRAT, Serary aiadad 97
TIH Y FT A ae a9 (UNFCCC) o dgq agaetia
Tt § T foarg &1 fAuT g Fedee 7 argHea |
RIS 4T (GHG) F Icasia # faafard 3em & TRE™
T AT § T@d gu, 39 9 it agraar it saer $i
RrAEmT T a9 | ST & gl F1F &l SATIFdT Y
AELTF & F a@d gu, Ewmmefier Ton it aaam &7
FATHT FT=wal & e =y o saate =T fi
THTAAT | Fea 9T o agIe 1 o & "reaw & g o
YT, ST SATET o AT & forw Ieeht =ee] ewdT
T TETUAT|
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118. According to the passage, which of the
following is / are a matter of intense
debate in the multilateral negotiations
under UNFCCC regarding the role of
developing countries in climate change?
1. The scale and size of required financial

support.
2. The crop loss due to climate change in the
3. Developing countries.

4. To enhance the mitigation and adaptation
actions in the developing countries.
Select the correct answer using the code

given below:

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3

119. In this passage, the Convention puts
the responsibility for the provision of
financial support on the developed
countries because of
1. their higher level of per capita incomes.
2. their large quantum of GDP.

3. their large contribution to the stock of
GHGs in the atmosphere.

Select the correct answer using the code

given below:

(a) 1 only

(b) 1 and 2 only
(c) 3 only

(d 1,2and 3

120. With regards to developing countries,
it can be inferred from the passage that
climate change is likely to have
implications on them

1. Domestic finances.
2. Capacity for multilateral trade.

Select the correct answer using the code

given below:

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

121. Which one of the following is
essentially discussed in the passage?

(a) Conflict between developed and
developing countries regarding support
for mitigation

(b) Occurrence of climate change due to
excessive  exploitation of natural
resources by the developed countries

(c) Lack of political will on the part of all the
countries to implement adaptation plans.

(d) Governance problems of developing
countries as a result of climate change
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118.7R=87 & quR, e § & #19 J9ayg
TRaaa # e s & e & g6y §
UNFCCC ¥ siqitq agaefia aratell # g agq
=T T 882
1. sraeas =i qgmar &7 THMET ST TRHT)
2. AT TRAT & HIEUT FHAAT HT THATH
3. fammefier 3ot

4, Tammaefier 3em § o\ 3T e Har &l
FTETAT

T T30 T Fe FT TART T Tl 3L AT
(a) Fa 1
(b) Fa 2 3T 3
(c) Fa«T 1 3T 3
(d) 1,2 =T 3
119. 39 TR=gT #, Fa9 @ agrar it sFaedr
#r e fasfea 3 9 STerar 8 F#=9its
1. Seht i =af=k o &7 37 &%

2. I ST fit T 7T
3. ATGHESA H A9 8T 41 % A /IHsT |
3T AT AR
I 3T T e FT AR T T 3L AT
(a) Fa 1
(b) Fae 1 3T 2
(c) Fa« 3
(d) 1,233
120. 39 Ii=aE ¥ RAwmadie 2 & g9y § 9g aqu=

AT AT gFaT § & Sy aRadw #1 S9 6
Refefea Tei 9y gev it @9TaT @
1. = =

2. FEIET SATI T &qw7ar

A= T T Fe AT IE A qE I A

(a) Fae 1

(b) FaeT 2

(c) 137 2 =T

(d) TAT 1 T TS 2

121.Fufefen & @ e o & == el =7 9

TRe=ge # Y TS §?

(a) o9 F AU F Hay § fwEd siv A
Zemt o = Ty

(b) Ferefaa Tem gTT ITRids SETEAT & AATTF
T 6 FHU STAAT T i HeAT

(C) STTEHAT TTSIATSAT Tl AN FLA o ToIT THT €T
FT AT F TASAAITAH = 1eTi<h T HHT

(d) STaTT IREAT % TIOTHEasT [Ashresie qom
H o "aeT gHEeTd
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122.

123.

124.

125.

126.

Five students viz. A, B, C, D and E
participated in a quiz and each of them
scored different marks. D scored more
than E but less than C. Only one person
is there whose marks lie between A and
B. Neither A nor B is the lowest scorer.
D is not the second lowest scorer. Who
among the following is the second
highest scorer?

(a) Either B or A

(b) D

() C

(d E

How many squares are there in this
figure?

] |y
as

[1]

allm!

(a) 24
(b) 23
(c) 27
(d) 26

How many stars lies opposite to the face
having three stars, when the given
figure is folded to form a cube?
(a) 4
(b) S
(c) 2
(d) 6
What is Ramesh's age?
I. Ramesh is half as old as Karan
II. Ramesh's age is three-fifth of her
mother's age who is 45 years old
(a) If the Statement I alone is sufficient
to answer the question but the
Statement II alone is not sufficient
(b) If the Statement II alone is sufficient
to answer the question but the
statement alone is not sufficient
(c) If both statements, I and II together
are needed to answer the question
(d) If either the Statement I alone or
Statement II alone is sufficient to
answer the question

The simple interest accrued in 9 years
on a principal of Rs 24250 is 162% of
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124.59 <F T2 SMHfQ &

122. 979 1 AT A, B, C, D 3iX E 9 TF T4

# AT foraT i SFH ¥ TAF A AAT-S1AT 3
e 71 D  E & a1fds AT C F 77 i
o Faw T e g fes siwm Asik BF &iw
H g Tl AN TS B 999 ®H 3% ITH HLA
I g D TEX gAGH SiF AT ATERAT gl gl
Fraferfea § & gar aaifes s yTasat S g2
() ITATBATA

(b) D

(c) C

d) E

123. 39 AFid § frae a7 g2

T4
tH

[T

(@) 24
(b) 23
(c) 27
(d) 26
TF 99 991 & o @Er
ST g, @7 A9 R T b & [{uda
I 8P
() 4
(b) 5
(c) 2
(d) 6

125. THY it Y FT 5P

I. THE T A FI0 6 A T el )
II. <A it AY ITh!T ATGT Sl A T 3/5 ST
% 45 a9 T gl

(@) =T FAT | 3Tohel T°T T 3L & F (10 q2ATH
2 TR e 9 || 797H 981 2

(b) =T e | 37eRel T=7 T 3L & % forg gt
ERIELEERERE N R RIE I E R

(c) =X W7 &1 IAL & o forw &9 | 3% || <=1

#T T AT AF9THAT &
(d) (= =T qT Tehet FAT | IT bl FAT |1 757 FT

I 29 F foro oIty

126.24250 T9F F AT 9L 9 T A SAfTa qrem<or

TS AT T 162% gl Id a9 AT I FT
g?
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the principal. What is the rate of

interest p.a?

(a) 18
(b) 22
(c) 15
(d) 12

127. Ravi can complete a work in 60 days and
Sunny can complete the same work in 5
days more than the number of days in
which they both can complete work
together. They both start the work and
after 5 days, Ravi leaves and Sunny
starts working with 4/3 times efficiency
as before. In how much time the work
will be completed?
(@) 12
(b) 8
(c) 10
(d) 15

128. In a class, 30 % of the students offered
English, 20% offered Hindi and 10 %
offered both. If a student is selected at
random, what is the probability that he
has offered English or Hindi?
(@ 3/5
(b) 1/5
(c) 2/5
(d) 4/7

129. Examine the statement given below:

Statements:
All pens are pin.

Some pins are not nut.
All nuts are cap.
Conclusions:
I. Some nuts are not pin.
II. Some pins are not cap.
Which of the above conclusion is correct?
(a) Neither I nor II
(b) Only II
(c) Both I and II
(d) Only I
PASSAGE-8
We have hard work ahead. There is no resting
for any of us till we redeem our pledge in full fill
we make all the people of India what destiny
intends them to be. We are citizens of a great
country, on the verge of bold advance, and we
have to live up to that high standard. All of us,
to whatever religion we may belong, are equally
the children of India with, equal rights, privileges
and obligations. We cannot encourage

JATF CET — 2022

127.

128.

129.

(@ 18
(b) 22
(c) 15
(d) 12

T 60 AT & U FH @ F ThaT § ST et
St e A S oAt it e 5 R afew A g
FT THAT g, Forad F T T AT HTH YT H qohe
gl 9 TAT F L& L & 3 5 = & a1, W
FAT SATAT g SN AT TG il TG 4/3 AT 24T
T FTH FAT L& F a7 g1 F Faw o017 &
T ErI?

(a) 12

(b) 8

(c) 10
(d) 15

TF F&T H, 30% AT 7 U T 9T, 20%
B T&=ga # 3T 10% 7 T1 weqa il < TH

T HT ATG>ET €T o AT ST &, AT FIT FHTEAT

& o S| SIS AT [ i Gersher Y 872
(@) 3/5
(b) 1/5
(c) 2/5
(d) 4/7

= fw 1@ o Fir St Ffor:
FA:
T+l 9 O 2

AR EE
AT 729 7 2|
Ao

I. %% 7eq faT 7 €

II. 7= 09 %9 951 21
SRR § & FI 97 ARy 98 8
(a) T AT 13T 7 & 1I

(b) Fae II

(c) I3 II Tt

(d) FaeT I

=T -8

H ART FET HgAd weAT gl g7 § 7 et & fow &g
A 5! & 5T T (o g8 (0 Hehod &l quid: T2 gl
FL A, TH ATLT 6 TAT ART FT a8 Agl 997 < g o
I forw At & 97 %% @7 g1 29 UF HE™ <97
AR &, ATgiee S ol FE 9T 3, 3T 26 39 3g
TAT I GIT IALAT 8| ATy gW el off &  gf, g/ ot
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communalism or narrow mindedness, for no

nation can be great whose people are narrow in

thought or action.
130. The challenge the author of the above
passage throws to the public is to
achieve
(a) a high standard of living, progress
and privileges

(b) equal privileges, fulfilment of destiny
and political tolerance

(c) spirit of adventure and economic
parity

(d) hard work, brotherhood out national
unity

131. Examine the statement given below:
Statement:
No cat is rat.
All dogs are rat.
No bat is rat.
Conclusions:
I. Some cats are bat.
II. Some cats are not bat.
Which of the above conclusion is
correct?
(a) Either I orII

(b) Only I
(c) BothIandII
(d) OnlyI

132. In a bag, there are 6 red balls and 9
green balls. Two balls are drawn at
random, what is the probability that at
least one of the balls drawn is red?

(@ 4/5
(b) 3/5
(c) 2/5
(d) 4/7

PASSAGE-9
Presently the need for more and more
surveillance and official, rather than citizen,
convenience dominate acquisition. Inevitably the
citizen is being digitized into so many bytes and
algorithms that we must fear being atomized
from individuals into mere numbers that can
beconfigured to control our every move, predict
our thoughts and perhaps even manipulate
them to the purposes of the powerful. This is not
fantasy. Even as we race forward, protection is
feeble. Judges are not trained to understand
sophisticated science in order to draw legal lines
in protection of individual freedoms that must
never be crossed. It will require much more skill
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T AtarerTe, farerarfersm i arfaeat & |rer q97 =9
q T o ag &1 g/ AIIaTiAar 1 ST FiT agrar
el & e, FIh IS W T A A5l 2l dadT, e
ST o far=me = e gt 21

130. SYURE TR & A@H F ST T ST ATt

TET it §, I8 AT V6 FAT &
(a) 3F Stra+ Tq¥, Wi i frerrfereTe

(b) FHTT fALraTiaERTe, AT T g oY

TS FfgeuEr
(c) ATEE 3T AT FHAT il qTAAT
(d) FET HETAA , ATEATE ATET TAEIF Tl

131. = Ry g st i st o

E D

F1E faeeft ==1 72T 2
Tl F =2 )

FIE TUTEE T A28 2
fAene:

I. g fafeaat =3 ag €
II. F= et s s a2f €
ST | F FHIA-97 [Awy T8l 8?
()T ar1aTIl

(b)Faer 11

(c) I 3T II ==t

(d)Faet I

132.T%F 3 § 6 a1 % 3T 9 g4 AT g < Ak &
Igas & ¥ Fw@r smar g, @t FJ=\w
TTAdT g FoF et 1€ 93 § 9 +7 ¥ F7 Th
T AT gIP
(@) 4/5
(b) 3/5
(c) 2/5
(d) 4/7

TR==T -9
FAAT H ATHTIET AT ¥ ATT9TFAT 6 T AT
SRR I ) -y e A T R et B
AT/ AT I AT T gray F< a1 g orf=ard =7 9
AT &1 T AT2ed 3T UAIEn § ey B
ST T2T ¢ o6 gH =l ¥ Faa U gedr § gRataq
I F STAT AT T F&AT F FHTL g€ Fad & Hatra
FIA W TA FAT ST gar g, A fo=mr @
TATTHT RITAT ST TFHAT § AT ATAG ATRIATAT AT F
zeat & I & oo game fem & g oft B o
THAT 81 A Fod T A1 1 S-S TH AN T2 &, e
FHASIT Bt gl =Frarefter 38 afveha &@s e #ir a0z
* foro wferfera w2t g 8, & 7 st wad=ar i
AT | FIAT HHTU RaTd w2 e, e w4t ot 9w
Tol AT ST AUl THE UgA [ AN gr #
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and spine before the people can rely on the

formal system to mediate power and deliver

effective even-handed justice to all.

133. With reference to the above passage
which of the following could be the most
rational and practical implications?

1. Stop the process of digitization and
first develop the tools to ensure
freedom and liberty for people.

2. Judges are trained to help them
understand the true nature and scope
digitization.

3. People may raise voice against the
government for controlling their lives
through surveillance.

4. Inform people about the dangers of
digitization and what they can do to
avoid their manipulation.

Select the correct answer using the code
given below:

(@) 1 and 2 only

(b) 2, 3 and 4 only

() 1,3 and 4 only

(d 1,2,3 and 4

134. A toy is in the form of a cone mounted
on a emisphere. The radius of the
hemisphere and that of the cone is 4cm
and height 6cm.The total surface area of
the toy is
(@) 220.5 sqcm
(b) 240.5 sq cm
(c) 260.5 sq cm
(d) 280.5 sqcm
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TEIEIAT 2 3T TfY 7 AT =17 J&= & & forg
ST JOTAT 9% 9T R ", THE U 9gd
TR RTeTel S 9T il ATT9TFRAT ZTI
133.394w TR=ar & dad # FRufofag & & o9
THETT A ATARNRS ATEaAr i a1 gr qehalT

g?

1. et i afekam i T & ager arn
FT TAAAAT ST FA=EEdT AT I oy
arae fEawfea w1

2. wgraveten #r e F areatas ey
AT TEAY AT gUAT H HEg wA & o
gforfera T s

3. @ AT F ATeEw ¥ S{ad
et = F o g ¥ fGeg e
IST T Bl

4. @t & RS F gat F e § g
¥ T FATU o Ik gCRT F T3 o (o0 o
FT T T g

= U 0 Fe & A0 FT Tl IAC F 949

QIS L

(a) Fae 1 3T 2

(b) Fa= 2, 3 3T 4

(c) Fa« 1, 33T 4

d) 1,2,337 4

134. UF @1 U STETe 9 &0 $7F % AR HT

srefTTor Y e sz o i Brear 4 ft sk g=rs
6 Y g1 = &1 T Tag! A &

(a) 220.5 & FHT

(b) 240.5 a1 7Y

(c) 260.5 a1 THT
(d) 280.5 = &t
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PASSAGE-10

India’s battle against malnutrition has been long
and arduous. Despite some recent
improvements, India is amongst countries with
the highest proportion of stunted and wasted
children. In addition, we now face a triple
burden of malnutrition - undernutrition,
micronutrient malnutrition and low but
increasing levels of overweight and obesity. As is
well known, malnutrition is a multidimensional
problem, affected by a number of factors,
proximate as well as underlying. While the
immediate causes of malnutrition are lack of
adequate and appropriate diets and poor health,
there are also several underlying structural
factors such as poverty and gender disparities.
135. With reference to the above passage,

which of the following assumptions can

be made?

1. India is not expected to face
malnutrition and obesity at the same
time.

2. Our understanding of malnutrition as
a concept is very limited.

3. It is difficult to find a solution of
malnutrition in India in near future.

4. Availability of food alone is not going to
solve the problem of malnutrition.

Which of the above assumptions is/are

valid?

(@) 1 and 2 only

(b) 3 and 4 only

() 2,3 and 4 only

(d 1,2,3and 4

136. In the following question, select the

number which can be placed in the
question mark (?) from the given
alternative

(a) 258
(b) 299
(c) 198
(d) 302
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TR=aT -10
FAT % e AT T A=TE AT 7T F{ST Tl 21 T
F T AT F ATa9(=, AT I <90 | e g, Sat
ATAFAT AT FAAL FgT T AT FAAF gl THF
SATAT, ST H FATIU 6 A1 ATAT HT ATHAT FL 5 & -
ST, G&H T qeal T HIIT0T U5 T8 Fore oY
| & Fear &<l S47 % Fafafad g, T uh
TATIATHT THET &, ST s qHITET 3T A ad HIht

T TATIEIT ZIet g1 STafsh FITTOT o ATCRTIeTeh FTE0T T
A 3T g it FHT 3T @O TGy g1 T h qATdl
FH T 2

135. 393 UR=ER & Gaw °, Fufafaa § & f-d

JAYTIUT FATE ST FHAT 57

1. T F UF gt 99 § FATO9 ST T i
TTHAT FHLA il SFHIE Al gl

2. UF AFYTIUT & & H FATI 6 AT T9H
Fgq HIHT Bl

3. e afasr & a™a & FIWT FT AT
GISHT H1oA gl

4. A AIST il ITASHAT § FATII il FHEAT
T qHTLTH A8l g areT gl
SR § T hIA-HT G0N TeT &2
(a) Fa 1 3T 2
(b) FaT 3 AT 4
(c) Fa 2, 3 3T 4
(d) 1,2, 3537 4
136. Rt v # Ry v Feeq 9 9 39 &11 v
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PASSAGE-11
In its first major political iteration as the South
Indian Liberal Federation or ‘Justice Party’ as it
is popularly known, it sought to counter what is
known as Brahmin/casteist hegemony. It
extended through its second major political
iteration as the Self-Respect Movement against
the orthodoxy of Vedic Hinduism’, in an alleged
continuation of the so-called heterodox religions
and sects of India. The Self-Respect Movement
led by Periyar E.V. Ramasamy laid the popular
base of the movement throughout the state,
subsequently going on to espouse the cause of
Tamil language and identity in opposition to
Hindi. This was later consolidated by the third
major iteration as the Dravida Munnetra
Kazhagam, the DMK.
137. On the basis of the above passage, the
following assumptions have been made:
1. In South India, casteism is an
important theme and it has impacted
polity as well.
2. The politics in South India focussed
on narrow regional issues.
Which of the above assumptions is/are
valid?
(@) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

138. Which number will replace the question
mark (?) in the following series?
110, 55, 58, 29, 32, 16,?
(a) 8
(b) 20
(c) 19
(d) 10

139. Consider the following sum
*0 + 6o+20+e8 + 20= 28,
In the above sum, * stands for
(a 9
(b) 6
(c) 7
(d 11
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TS A foraver weLe a7 T8 (AT 919 “Sieeq
ITEY F F H ATAT TgAT THE TS ATAT F S0

THT FTE[O/STIAATar ST T qHAT F H T
T 7g A FuTRida et awt s dvar i
Ftaa fAiawar § 'afew By o i wfearfaar % fFeg
“HTH-FFATT ARAT o6 & H 7 A THE TSI T
R & "reEw ¥ fAEaia gem aRaw AT
TTHTEATHT F X TST | ATGIAT FT AR SATLTT TET,
Fre # f2aT % e § qfver 9T 3w 9g=e #°7 g9dq
o = are § 3faE g9 F9H, TF © T H @0

THE AR gTT |@9Tied 36 3 =m
137. 394 TR & e 17, e @earomd
IATE T &
1. = wra & sfars uF st g2 E
AT ZaT T AFEAT 1 AT gt BT )
2. T AT ol TSI Hehlol &= q2i I
fed off|
ST H ¥ FE-H (FEROT/ @R 99
g/%?
(a) Fae 1
(b) FaeT 2
(c) 13T 2 aHAr
(d) TAT 1 3T T ST 2

138. Rufefad sEar & wwar=s =g (P) F &M
HI-H GE&AT TP
110, 55, 58, 29, 32, 16,?
(a) 8
(b) 20
(c) 19
(d) 10

139. Rafafem o = e fisa:
*Q + Go+2e+e8 + Qo= 208
SRR AT & « F7 A &

(@ 9
(b) 6
(c) 7
(d) 11
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PASSAGE-12
With every new forest fire or flood, and with every

new report on the loss of wildlife or increase in
desertification, we are reminded that we urgently
need greater attention and efforts to conserve
and sustainably manage the world’s forests.
Fewer natural disasters, a more stable climate,
healthier people, and stronger economies are
just some of the benefits that we stand to gain
from helping forests to thrive. There is growing
international concern over the quality and
availability of training and education needed
both to prepare those whose daily work and
decisions most closely impact the sustainable
management of forests, and to inform new
generations who will look after forest resources
in the future. We need talented students to enter
forest education programmes. We need well-
trained forest managers and policymakers.

140. On the basis of above passage following

assumptions have been made:

1. Keeping forests healthy is essential for
keeping people, economies, and the
environment healthy as well.

2. Sustainable management of forests
requires up-to-date training for forest
managers and decision makers.

3. Greater priority must be placed on the
quality and availability of forest

education.
Which of the above assumptions is/are
valid?
(@) 1 & 2 only
(b) 2 & 3 only
(c) 3 only
d 1,2&3

141. The author seems to argue that,
(a) Without enough health literacy,

sustainability is not guaranteed

(b) We may not be knowing much about
forests to take care of them properly

(c) Cultural model of conservation
involves learning traditional practices
of forest management

(d) Best investment to save forests is to
educate all college goers

142. The following questions are based upon
the alphabetical series given below
TJENUQAKIOGRMSPBHFDL
vVC
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B AT AT AT AE 6T AT % AT, T qeasiar
&t A7 AEereftEeor § Fig uw ge 98 R & a1y, 2o
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AT, T AN Y ASGd ATATEATT T, UH ATH
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GUGAGEIGIEEIRS Bk ]
140. 3UUF TR=ge & AR 9x Rufefea gt

ERIEREEF

1. SR, STFeaaeTell 3 qaia<or & HT ey

TG o T F1 T Te TEAT AT Bl

2. AT % qad Tared % fory a= yererat o Ao
e & Ow srygfRE wideror &
ATFATFHAT T gl

3. FF forear it [UEET S IUASHAT U ATAF
ITATRRAT &1 SATHT AT

ST | H FHIA-HT GTLTT/ETIOMT 9 8/5 2

(a) Fae 1 3T 2

(b) FaeT 2 3T 3

(c) Fa« 3

(d) 1,233

141. AEF RT T&IT a6 g Toid grav g i,

(a) TITH TATEST ATAAT o AT, Femeofirar #i
TTEET 8T 2

(b) =g Y g g 3 g/ Srelt it S F T@arer
LA o AT H SATET TR 7 2l

(c) HXAT F HIEHa® ASA H aT Taed =l
TR AT T HE=T gATH Bl

(d) ==t F¥ F=T F e e sy A Tt
FHiersT ST ATt 7 forfera 7T 2

142. Fufifem oy = & 1 FoiwET gE'er )
AMAMRTE? TIENUQAKIOGRMS
PBHFDLVC
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143.

144,

145.

What will come in place of question
mark (?) in the following series based on
the above alphabetical series?

TN EQ UK?

(a) OA

(b) IR

(c) AO

(d) None of these

The day on 15th April of a year will be
the same day on the 15th of which
month of the same year?

(a) 15th June

(b) 15th August

() 15th July

(d) 15th October

Ravi is the oldest member in a family of
five persons. Ravi has three children
including Mina who has equal number of
brother and sister. Rinki is the mother
of Pinki who is the sister of Mina. How
many male members are there in the
family?

(a) One

(b) Two

(c) Three

(d) Cannot be determined

Pointing towards a photograph of Bob,
Nina said- “He is the only son-in-law of
my mother and my mother has only one
child.” The how is Nina related to Bob?

(a) Sister

(b) Cousin

(c) Wife

(d) None of these

Direction (Q.146-147):

Study the following information to answer
the given question:

Seven persons viz. A, B, C, D, E, F and G are
sitting in a row. All of them are facing north. D
sits fifth to the right of G. D does not sit at the
extreme left end of the row. B is not an
immediate neighbour G. Two people sit between
A and C. A sits at one of the positions to the left
of B. B sits third to the left of F.

146.

Who among the following sits third to
theright o ofC?

(a G

(b) A

(c) F

(d) No one
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(a) OA

(b) IR

(c) AO

(d) ST § & F1E T

143. &l a7 f 15 b« F F& o g, s I«

¥ ¥ e w5 f 15 ardig #r grm?
(@) 15

(b) 15 smTed

(c) 15 =TE

(d) 15 srFaw

144. < g9 ARKAT § TRAR § 999 987 957 g

W F Hiwr aftg fiw ag € e a9 sik s
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g9 g1 TRaR # fhaw qey 937 g7

(a) T%

(b) =T

(c) o=

(d) erifa gt T ST ahar g

145. Fiq it TaH T H AT FATT FA g, AT o

Hgl- g AL AT HT THATGT € § A A4 7§
&t TF of GA™ 1" AT T F oh wew qateq

RS (146-147):

Ru 17wt #F7 SR & F o e s v
AEAAT TSI

g ATF AATTA, B, C, D, E, FiR G UH i H a5
g1 39 a9t T q@ ST AT AT g1 D, G F I0F F I
AT 97 927 21 D Uf*F & &ifow arf g uw 981 9271 2
B, G & fAheaw ugmdr A8l 81 A iR C F wex ar
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= FTH H S T 9T 9357 8
146.Fufifag §# 19 C F T3 T IO &H W

3T g2
(@) G
(b) A
(€ F

(d) ST § & FrE TR
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147. What is F’s position with respect to C?

148.

149.

150.

(a) Second to the left
(b) Third to the right
(c) Second to the right
(d) Fourth to the right

A tap can fill a cistern in 6 hrs and
another can empty it in 15 hrs. If both
the taps are opened simultaneously, the
time to fill the 4/5th part of the cistern
is -

(@) 10 hr

(b) 8 hr

(c) 6hr

(d) 12 hr

A thief is noticed by a policeman from a
distance of 300 m. The thief starts
running and the policeman chases him.
The thief and the policeman run at the
rate of 12 km and 13 km per hour
respectively. What is the distance
between them after 6 minutes?

(@ 200 m

(b) 150 m

(c) 100 m

(d) 250 m

A man travels from A to B at a speed x
km/hr. He then rests at B for x hours.
He then travels from B to C at a speed
2x km/hr and rests for 2x hours. He
moves further to D at a speed twice as
that between B and C. He thus reaches
D in 16 hr. If distances A-B, B-C and CD
are all equal to 12 km, the time for
which he rested at B could be

(@) 3 hr

(b) 6 hr

() 2hr

(d) 4 hr
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148.

149,

150.

() =TT & gET
(b) =& T f=T
(c) 3T & T
CEREEIR

TF T TH ! il 6 " H WX ThaT § X @
Y 15 9 § QAT FC T gl IS AT A1 &l
TH 9T Gl AT U, 97 <A F 4/5 W w0
T | T a9 e

(a) 10 ®er

(b) 8 =eT

(c) 6 ®er

(d) 12 =<

300 Hiex #F T & T Fasdl g T A
FT <G SATAT &1 FE AR Aqr g i qrorasat
ST &1 FEar g1 9 i qierasd wHsr: 12
fraft. sk 13 At ufa 5T & wfa & = 8
6 e % are S = f g et 87

(a) 200 Hiex

(b) 150 Hiex

(c) 100 Hiex

(d) 250 #Hiex

TF AEHT A ¥ B T x ffy /et i wfq & 3=
FLaT gl T a8 B WX x =¢ ¥ forg sy s
gl ag 2x i/ fraca B Cca=
STAT X 2x = AH FLAT gl 98 AN D Th
B 3X C F {19 Y Tfq & IR[AT 1 & SIRr F@arv
gl SHTFR g 16 5 | D qF Ugaar gl IR T
A-B, B-C T C-D &+t 12 f&.#t. & IUeK &,
qT I FIT B 9T O 4T T G0/ g qehall
T
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Writing Skills Paper-30 Minutes

JATF

ADMINISTRATIVE TRAINING FOUNDATION

Writing Skills Paper Maximum Marks - 50

NaME: ..ot Exam Centre:.. e
ROLL NO:..coiitiiteiiee et et Invigilator Signature:.......cccoovevevvvecveceeneereenene.
Please write essay on one of the | F9aT1 fRwfefem & & =l ©& Rfva w
following topics in 400 — 600 words. 400-600 9Tsa1 ¥ ey g
, |Data is the new oil of the 21st TeT 2141 TdY T FAT A Bl
" | century.
Artificial intelligence - boon or arfefrforer efosie - Aaar & oo
2. | bane for humanity? FLETT AT ATHTT?
First they ignore you, then they T o ATTH FAET Fd g, [he T M7
3. | laugh at you, then they fight you, T a2, TR F o o= €, R e
then you win. Sfre s
Women empowerment: challenges Afgar  gofeRer:  FAaEr ST
4 | and prospects. THTEATT
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